

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No 1545-0052

Department of the Treasury

Internal Revenue Service Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements Open to Public Inspection For calendar year 2012 or tax year beginning 12/1/2012 , and ending 11/30/2013 Name of foundation A Employer identification number WOODWARD, GEO JR AND HARRIET E T/W 23-7750367 Number and street (or P O box number if mail is not delivered to street address) Room/suite B Telephone number (see instructions) Wells Fargo Bank N A Trust Tax Dept - 1 W 4th St 4th Floor MAC D4000-041 (888) 730-4933 City or town, state, and ZIP code C if exemption application is pending, check here Winston Salem 27101-3818 G Check all that apply: Initial return Initial return of a former public charity D 1. Foreign organizations, check here ☐ Final return Amended return 2. Foreign organizations meeting the 85% test, Address change □ Name change check here and attach computation H Check type of organization Section 501(c)(3) exempt private foundation E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here I Fair market value of all assets at end J Accounting method. X Cash F If the foundation is in a 60-month termination of year (from Part II, col (c), Other (specify) under section 507(b)(1)(B), check here line 16) ▶ \$ 28,244,581 (Part I, column (d) must be on cash basis) Part I Analysis of Revenue and Expenses (The total of (d) Disbursements (a) Revenue and (b) Net investment (c) Adjusted net for charitable amounts in columns (b), (c), and (d) may not necessarily equal expenses per income income purposes the amounts in column (a) (see instructions)) books (cash basis only) Contributions, gifts, grants, etc., received (attach schedule) Check ►X if the foundation is not required to attach Sch B 3 Interest on savings and temporary cash investments Dividends and interest from securities 667,682 667,682 5 a Gross rents **b** Net rental income or (loss) 6 a Net gain or (loss) from sale of assets not on line 10 733.224 b Gross sales price for all assets on line 6a Capital gain net income (from Part IV, line 2) 733,224 Net short-term capital gain . Income modifications 10 a Gross sales less returns and allowances b Less Cost of goods sold * C Gross profit or (loss) (attach schedule) Other income (attach-schedule) Total. Add lines 1, through 11 12 1,400,906 1,400,906 Compensation of officers, directors, trustees, etc 13 242.318 80.772 14 Other employee salaries and wages ich 15 Pension plans employee benefits 16 a Legal fees (attach schedule) **b** Accounting fees (attach schedule) 600 600 Administrative c Other professional fees (attach schedule) . 17 Interest 18 Taxes (attach schedule) (see instructions) 10,480 5 448 19 Depreciation (attach schedule) and depletion 20 Occupancy 21 Travel, conferences, and meetings . and 22 Printing and publications 23 Other expenses (attach schedule) Operating 24 Total operating and administrative expenses. Add lines 13 through 23 334,170 247,766 25 1,170,000 Contributions, gifts, grants paid 1.170.000 26 Total expenses and disbursements. Add lines 24 and 25. 1,504,170 0 247.766 Subtract line 26 from line 12: -103,264 a Excess of revenue over expenses and disbursements 1,153,140 **b Net investment income** (if negative, enter -0-) C Adjusted net income (if negative, enter -0-)

For Paperwork Reduction Act Notice, see instructions.

Form 990-PF (2012

Pa	rt II	Balance Sheets Attached schedules and amounts in the description column	Beginning of year	End o	of year
		should be for end-of-year amounts only. (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash—non-interest-bearing			
	2	Savings and temporary cash investments	238,465	559,486	559,486
	3	Accounts receivable			
		Less allowance for doubtful accounts			
	4	Pledges receivable ▶			
		Less allowance for doubtful accounts			
	5	Grants receivable .			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions).			
	7	Other notes and loans receivable (attach schedule)	, , , , , , , , , , , , , , , , , , , ,		
		Less allowance for doubtful accounts			
Ş	8	Inventones for sale or use			
Assets	9	Prepaid expenses and deferred charges .		·	
As	10 a	Investments—U.S. and state government obligations (attach schedule)			
	1	b Investments—corporate stock (attach schedule)			
	(Investments—corporate bonds (attach schedule)			
	11	Investments—land, buildings, and equipment basis			,
		Less accumulated depreciation (attach schedule)			
	12	Investments—mortgage loans .			
	13	Investments—other (attach schedule) .	18,700,241	18,281,795	27,685,095
	14	Land, buildings, and equipment: basis ▶			
		Less accumulated depreciation (attach schedule)			
	15	Other assets (describe)			
	16	Total assets (to be completed by all filers—see the			
		instructions Also, see page 1, item I)	18,938,706	18,841,281	28,244,581
	17	Accounts payable and accrued expenses			
Ś	18	Grants payable			
ţį	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			4 4 2 4 4
<u>ia</u>	21	Mortgages and other notes payable (attach schedule) .			
_	22	Other liabilities (describe			Mr & A
	23	Total liabilities (add lines 17 through 22)	0	0	
(A)		Foundations that follow SFAS 117, check here . >			
Balances		and complete lines 24 through 26 and lines 30 and 31.			ě
Ĕ	24	Unrestricted			
3al	25	Temporarily restricted			* * *
P	26	Permanently restricted			g a service of
H		Foundations that do not follow SFAS 117, check here. \blacktriangleright \boxed{X}	_		· .
Net Assets or Fun		and complete lines 27 through 31.			÷
0	27	Capital stock, trust principal, or current funds		18,841,281	>
ets	28	Paid-in or capital surplus, or land, bldg , and equipment fund .			
SS	29	Retained earnings, accumulated income, endowment, or other funds	18,938,706		
t A	30	Total net assets or fund balances (see instructions)	18,938,706	18,841,281	
Ne	31	Total liabilities and net assets/fund balances (see			4
		instructions)	18,938,706	18,841,281	
	t III	Analysis of Changes in Net Assets or Fund Balances			
1		net assets or fund balances at beginning of year—Part II, column (a), line	30 (must agree with		
_		f-year figure reported on prior year's return)		1	18,938,706
		amount from Part I, line 27a .		2	-103,264
		increases not included in line 2 (itemize) See Attached Stateme	nt	3	5,839
		ines 1, 2, and 3		4	18,841,281
		eases not included in line 2 (itemize)		5	
6	Total	net assets or fund balances at end of year (line 4 minus line 5)—Part II, co	olumn (b), line 30 .	. 6	18,841,281

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate. See

the Part VI instructions

	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see inst	ruction:	3)	
1	a Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1			i nii Mari
	Date of ruling or determination letter (attach copy of letter if necessary—see instructions)		****	
	b Domestic foundations that meet the section 4940(e) requirements in Part V, check	23	3,063	، سيبيانشد م
	here ▶ ☐ and enter 1% of Part I, line 27b C All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4%	Ligary 12		
	of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)		n	
3	Add lines 1 and 2	2:	3,063	\vdash
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)		3,000	
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0-	2:	3,063	
6	Credits/Payments	10,000	4.44	17.7
	a 2012 estimated tax payments and 2011 overpayment credited to 2012 6a 15,683			
	b Exempt foreign organizations—tax withheld at source			-
	c Tax paid with application for extension of time to file (Form 8868) 6c	- W	*	
	d Backup withholding erroneously withheld . 6d .		, N	13.
7	Total credits and payments Add lines 6a through 6d	1	5,683	
8	Enter any penalty for underpayment of estimated tax. Check here			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed .		7,380	
10			0	
11		$\overline{}$	0	L
	art VII-A Statements Regarding Activities		V	
1	a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	
	participate or intervene in any political campaign?	<u> 1a</u>		X
	b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?	145		
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials	1b	15.759	X
	published or distributed by the foundation in connection with the activities			1
	c Did the foundation file Form 1120-POL for this year?	1c		Х
	d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year.		17	
	(1) On the foundation ▶ \$ (2) On foundation managers ▶ \$	277		
	e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed			
	on foundation managers. ▶ \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		Х
_	If "Yes," attach a detailed description of the activities	3.6		14.00
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles			- A
4	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		X
4	a Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a 4b	N/A	Х
5	b if "Yes," has it filed a tax return on Form 990-T for this year? Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	INA	х
Ŭ	If "Yes," attach the statement required by General Instruction T			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			
	By language in the governing instrument, or	4		
	By state legislation that effectively amends the governing instrument so that no mandatory directions			
	that conflict with the state law remain in the governing instrument?	6	Х	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	7	Х	
8	a Enter the states to which the foundation reports or with which it is registered (see instructions)			
	<u>PA</u>		2	
	b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney	(043)	41.3	(36)
_	General (or designate) of each state as required by General Instruction G? If "No," attach explanation .	8b	X	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3)			
	or 4942(j)(5) for calendar year 2012 or the taxable year beginning in 2012 (see instructions for Part XIV)? If "Yes,"			
40	Did any persons become substantial contributors during the tay year? If "Yea " attach a cahadula listing	9	\vdash	X
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing	40		V
_	their names and addresses	10		<u> </u>

	1 VIES Statements Regarding Activit	_		1 4/	ZU Way De K	<u> </u>	ilea (continued	<u> </u>			
5a	During the year did the foundation pay or incur an										
	(1) Carry on propaganda, or otherwise attempt		•		` ''		Yes	Χı	No		
	(2) Influence the outcome of any specific public		•	955)	, or to carry		_				
	on, directly or indirectly, any voter registration	on driv	/e? .		•	٠	<u></u> Yes	낕	No	·	
	(3) Provide a grant to an individual for travel, st	udy, c	or other similar pur	pose	es?		. Yes	Χı	No		
	(4) Provide a grant to an organization other tha		_				_				i
	in section 509(a)(1), (2), or (3), or section 49					•	· · Yes	ΙXΙ	No		ii.
	(5) Provide for any purpose other than religious				•						i i
L	educational purposes, or for the prevention		•				Yes	X	No		
D	If any answer is "Yes" to 5a(1)–(5), did any of the		•	•	•					Ch N/	
	Regulations section 53.4945 or in a current notice	-	_		•	ns)"		\ 		5b N//	
_	Organizations relying on a current notice regarding if the answer is "Yes" to question 5a(4), does the	-						-			
·	tax because it maintained expenditure responsibil		•	uon	N/A		Yes	\Box	No		
	If "Yes," attach the statement required by Regulat			(d)				Ш.	10		
6a	Did the foundation, during the year, receive any fu				pav						
	premiums on a personal benefit contract?	,		,,	, F - ,		· Tyes	XI	No		\$
b	Did the foundation, during the year, pay premiums	s, dire	ctly or indirectly, o	n a	personal benefit o	ontra				6b	X
	If "Yes" to 6b, file Form 8870										7
7a	At any time during the tax year, was the foundation	nap	arty to a prohibited	l tax	shelter transaction	n?	. Yes	ΧI	No		
_	If "Yes," did the foundation receive any proceeds									7b N//	
Р	art VIII Information About Officers	, Dir	ectors, Truste	es,	, Foundation	Mar	nagers, Highly	Paid	Em	ployees	,
_	and Contractors										
	List all officers, directors, trustees, found		n managers and Title, and average		eir compensation Compensation	on (
	(a) Name and address	1	hours per week		f not paid, enter		(d) Contributions to employee benefit pla	ns		Expense action their allower	
Wa	Is Fargo Bank, N A		evoted to position stee		-0-)	and	d deferred compensa	ition		uici allowai	1003
	4th St 4th Floor MAC D4000-041 Winston 5		4.00		323,090						
	THE CONTRACT OF THE CONTRACT O	1	4.00		020,000						
					_						
_		╄									
	*										
_	Companyation of five highest poid and a		/other than the			4					
2	Compensation of five highest-paid emplo enter "NONE."	yees	(otner than the	256	included on ill	18 1-	—see instructio	ns). II	non	ie,	
			(b) Title, and avera	ne		I	(d) Contributions	to			
(a	Name and address of each employee paid more than \$50	000,0	hours per week	-	(c) Compensation	n	employee bene plans and defen			Expense action their alloware	
			devoted to position	οn			compensation			uiei allowai	ices
NO	<u> </u>						-				
								_			
	••••••					- 1					
				_		┥		+			
								ı			
			 			ᅥ		-+		· - · · ·	
											- "
			<u> </u>								
Tot	al number of other employees paid over \$50,	000						. ▶			0

Form 990-PF (2012)			23-7750367 Page 7
Part VIII	Information About Officers, Directors, Trustees	s, Foundation Managers, Highly Pa	id Employees,
	and Contractors (continued)		
	t-paid independent contractors for professional services (s		
	ame and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE			
Total number of	others receiving over \$50,000 for professional services		
Part IX-A	Summary of Direct Charitable Activities		
	s four largest direct chantable activities during the tax year. Include relevinizations and other beneficiaries served, conferences convened, researc		Expenses
1 NONE			
2			
3			
		·	
*	•••••		
Part IX-B	Summary of Program-Related Investments (see	e instructions)	
	rgest program-related investments made by the foundation during the tax		Amount
1 NONE			
2	•••••		
All other program-re	elated investments. See instructions		
3 NONE			
		 	<u> </u>
Total. Add lines	1 through 3	<u>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</u>	0

•	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes	A 199	
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	1,251,372
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4.	4	1,251,372
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income Enter 1% of Part I, line 27b (see instructions)	5	

Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years

Adjusted qualifying distributions. Subtract line 5 from line 4

1.251.372

Part	XIII Undistributed Income (see instructions)												
1	Distributable amount for 2012 from Part XI,		(a) orpus		Years	(b) pnor to	2011		(c) 2011	ł			1) 12
_	line 7				····	·-····	-				1_	1	<u>,293,659</u>
2	Undistributed income, if any, as of the end of 2012			1			1				4		
а	Enter amount for 2011 only									678,52°	9		
þ	Total for prior years 20, 20, 20										╀		
3	Excess distributions carryover, if any, to 2012			1							İ		
a	From 2007										1		
þ	From 2008 .												
C	From 2009								•		1		
d	From 2010												
е	From 2011								¥		1		
f	Total of lines 3a through e			0							╀—		
4	Qualifying distributions for 2012 from Part	•		¥					4				*
	XII, line 4: \$ 1,251,372			. 3				<u> </u>			_		
a	Applied to 2011, but not more than line 2a		•	**	٨	*b				678,52	9		
D	Applied to undistributed income of prior years										1		
_	(Election required—see instructions)	* \$		У	,			- ***			 		
C	Treated as distributions out of corpus (Election										1		
-4	required—see instructions)				*7	***	Sille-	- 7			+	*	E70 042
	Applied to 2012 distributable amount .				136.				*****	2.	+		572,843
е 5	Remaining amount distributed out of corpus .				- 4	ø	.¥	*	*****	· de	+	<u>%</u>	22
3	Excess distributions carryover applied to 2012 (If an amount appears in column (d), the	- 4	*	Ą	.jw	â	· Å	4	ţ³,	*	12		×4. f
6	same amount must be shown in column (a)) Enter the net total of each column as	· · · · · · · · · · · · · · · · · · ·	e.	á	Æ	n neighbor	: 🎉:	*	, (**	d,	1	s-cit
_	indicated below:				٠						I	-	
a	Corpus Add lines 3f, 4c, and 4e Subtract line 5.			0	70.	<u> </u>	æ	*			+	<u>-</u>	
D	Prior years' undistributed income Subtract										1		
_	line 4b from line 2b .		-				0	49	***************************************	<u> </u>	╬┈		
C	Enter the amount of prior years' undistributed			,									
	income for which a notice of deficiency has		* 6	-36				¥	ì	Ħ	?	*	4
	been issued, or on which the section 4942(a)										1		
	tax has been previously assessed Subtract line 6c from line 6b Taxable		XK1	-4-			-	<u>-</u>			+		
u				l									
e	amount—see instructions . Undistributed income for 2011. Subtract line						7,	<i>M</i>			+		
•	4a from line 2a Taxable amount—see												
	Instructions	*5	igo	1	*		s				<u>ر</u>	*	
f	Undistributed income for 2012. Subtract										4		
•	lines 4d and 5 from line 1. This amount must		,	Ŷ	S _t	,	€`	¥			1		
	be distributed in 2013										1		720,816
7	Amounts treated as distributions out of	·····				············				· ·····	1		720,010
•	corpus to satisfy requirements imposed by										1		
	section 170(b)(1)(F) or 4942(g)(3) (see instructions)												
8	Excess distributions carryover from 2007									·····	1		
•	not applied on line 5 or line 7 (see instructions) .												
9	Excess distributions carryover to 2013.				· ·····						1		
•	Subtract lines 7 and 8 from line 6a												
10	Analysis of line 9										1		
. о а	Excess from 2008 .												
b	Excess from 2009												
c	Excess from 2010										1		
ď	Excess from 2011						İ						
e	Excess from 2012												

Part XV	Supplementar	Information	(continued)
	-appromontal	,	,00111111404)

3 Grants and Contributions Paid During		for Future	Payment	
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient	Contribution	<u> </u>
a Paid during the year See Attached Statement				
Total b Approved for future payment	<u> </u>	1	▶ 3a	1,170,000
NONE				
Total		•	. ▶ 3b	0

	Analysis of income-Producing Acti					
Enter gro	ss amounts unless otherwise indicated.	Unrelated bus	iness income	Excluded by section	on 512, 513, or 514	(e)
		(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income (See instructions)
_	am service revenue.					(See instructions)
	·	· 				
	·	·	 		 -	
_		· 			· - · - · -	
_		· 		 		
, ,						
' <u>-</u>		·				
_	es and contracts from government agencies			 		
	ership dues and assessments . st on savings and temporary cash investments					
	ends and interest from securities			14	667,682	
	ental income or (loss) from real estate			14	007,002	
	ebt-financed property .	**************************************			<u> </u>	
	ot debt-financed property			 		
	ental income or (loss) from personal property .			-		
	investment income					
	or (loss) from sales of assets other than inventory			18	733,224	
	come or (loss) from special events .				100,227	
	profit or (loss) from sales of inventory	·	· · · · ·			
	revenue a					
c						
e						
	tal Add columns (b), (d), and (e)	2 A 4 40 ;	0	\$	1,400,906	
13 Total.	Add line 12, columns (b), (d), and (e)	<u> </u>	<u>.</u>		1,400,906 13	1,400,906
13 Total. (See work	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to venfy calculations)			·		
13 Total. (See work Part XV	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to venity calculations) -B Relationship of Activities to the Activities	complishment	of Exempt P	urposes	13	
13 Total. (See work	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to venfy calculations) Relationship of Activities to the Activities (continue)	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) -B Relationship of Activities to the Activities to the Activities to the Activity for which income	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906
13 Total. (See work Part XV Line No.	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations) I-B Relationship of Activities to the Activities to the Activity for which income the accomplishment of the foundation's exempt	complishment	of Exempt P	urposes VI-A contributed in	13	1,400,906

Form 990	I-PF (2012) WOODWAF	RD. GEO JR A	ND HARRIET E T/W			23-7750	1367	Page 13
Part X			sfers To and Transactions	and Rela	ationships With			
	Exempt Organiz	ations				_		
			ngage in any of the following w					Yes No
		e (other than s	ection 501(c)(3) organizations)	or in secti	ion 527, relating to	political		
org	anizations?							
		foundation to	a noncharitable exempt organiz	zation of:				i i
							1a(1)	X
	Other assets						1a(2)	X
	ner transactions:	- L -3-L1						
	Sales of assets to a non		empt organization able exempt organization				1b(1)	- X
(2)	Rental of facilities, equip	m a nonchania	r accete				1b(2) 1b(3)	X
(4)	Reimbursement arrange	ements		• • •			1b(4)	 x
	Loans or loan guarantee						1b(5)	Î
			np or fundraising solicitations				1b(6)	T X
			ts, other assets, or paid employ				1c	X
val val	ue of the goods, other as ue in any transaction or s	sets, or servic	complete the following schedules given by the reporting foundament, show in column (d) the	ation. If the	e foundation receiv	ved less than	fair mar	ket
(a) Line	no (b) Amount involved		of nonchantable exempt organization	(d) Des	scription of transfers, tra	nsactions, and s	hanng arra	ngements
		Not Applicab	le					
		 						
		-		 				
		-		+				
			· · · · · · · · · · · · · · · · · · ·					
							·	
	-							
		ļ						
				-	·			
_		 .			<u> </u>			
		<u> </u>						
des	he foundation directly or i scribed in section 501(c) o Yes," complete the followi	of the Code (o	ated with, or related to, one or mether than section 501(c)(3)) or i	nore tax-ex n section (xempt organization 527? .		res 🛚	No
	(a) Name of organization		(b) Type of organization	I	(c) De	scription of relation	onship	
					(-)			
	·····							
			this return, including accompanying schedules an			ge and belief, it is tr	ue,	
Sign	correct, and complete Declaration of	ı bıebarer (orner man	taxpayer) is based on all information of which pre	parer nas any k	nomeage	May the IRS	discuss this	return

with the preparer shown below (see instructions)? X Yes No SVP Wells Fargo Bank N A Signature of officer or trustee Date Title Print/Type preparer's name Preparer's signature Date PTIN **Paid** le Check X if JOSEPH J CASTRIANO 2/3/2014 self-employed P01251603 **Preparer** Firm's name PricewaterhouseCoopers, LLP Firm's EIN ▶ 13-4008324 **Use Only** Firm's address ▶ 600 GRANT STREET, PITTSBURGH, PA 15219-2777 Phone no 412-355-6000

2/3/2014

Here

Rn 1 Sulanta SVP Wells Fargo Bank N.A.

195,000

GENERAL SUPPORT GRANT

Part I, Line 6 (990-PF) - Gain/Loss from Sale of Assets Other Than Inventory

									Totals	Gross		Cost, Other	Other	Net Gam	Sam
		∢	Amount							Sales		Basis and Expenses	Expenses	or Loss	
	Long Term CG Distributions	utions	42,703					ů	Capital Gains/Losses		5,628,855		4,895,631		733,224
	Short Term CG Distributions	uttons	0						Other sales		0		0		0
	10 to				Check "X" if							Expense of Sale and			
5 2	to include				Furchaser	Date	Acquisition	Date	Gross Sales	Cost or	Valuation	Emprove-			Net Garn
Ē	in Part IV Description	Ő	CUSIP#	Purchaser	Business	Acquired	Method	Sold	Pnce	8	Method	ments	Depreciation	Adjustments	or Loss
-	X ARTISAN FDS INC SMALL CAR		04314H105			4/27/2005		9/20/2013	200,000	110,285				0	89,715
7	X CENTURYLINK, INC		156700106			6/17/2010		5/1/2013	148,957	139,679				0	9,278
•	X CHUBB CORP	171	171232101			6/23/2009		12/12/2012	235,092	119,126				0	115,966
•	X DELAWARE POOLED TR INT	Ļ	246248306			2/13/2006		9/20/2013	410,733	900,009				0	-189,287
s	X DELAWARE POOLED TR INT		246248306			4/11/2008		8/20/2013	35,996	52,632				0	-16.636
9	X DELAWARE POOLED TR INTL	L	246248308			4/27/2005		9/20/2013	466,455	900,009				0	-133,545
7	X FED NATL MTG ASSN 3 250		31398AMW9			12/9/2008		4/9/2013	200,000	511,104				0	11.10
80	X INTEL CORP	456	458140100			6/24/2005		9/20/2013	89,725	100,776				0	-11 051
8	X INTEL CORP	456	458140100			3/2/1998		9/20/2013	424,188	408,704				0	15,484
10	X IBM CORP 2 100% 5/06	ľ	459200GR6			8/19/2011		5/8/2013	25,000	25,657				0	-657
11	X ISHARES MSCI CANADA ETF	Ĺ	464286509			3/17/2011		9/20/2013	176,515	200,259				0	-23,744
12	X ISHARES TIPS BOND ETF	L	464287176			11/21/2011		9/20/2013	100,628	104,561				0	-3,933
13	X KRAFT FOODS GROUP INC		50076Q106			11/29/2010		9/25/2013	87,502	52,561				0	¥.
14	X MCDONALDS CORP	***	580135101			10/1/2008		12/12/2012	439,869	308,800				0	130,869
15	X MICROSOFT CORP	284	594918104			3/21/2000		9/20/2013	51,316	75,756				٥	-24,440
16	X MICROSOFT CORP	284	594918104			2/14/2002		9/20/2013	1,476	1,411				0	65
17	X PRAXAIR INC COM	74(74005P104			10/8/2002		12/12/2012	645,859	156,456				0	489,403
18	X TEVA PHARMACEUTICAL IND		881624209			3/29/2012		9/20/2013	150,809	176,960				0	-26,151
18	X TEVA PHARMACEUTICAL IND		881624209			8/11/2012		9/20/2013	101,796	105,691				0	-3,895
20	X IVANGUARD TOTI, BD MARKE		921937868			2/11/2009		9/20/2013	61	58				0	3
21	X VERIZON COMMUNICATIONS		92343V104			3/29/2012		12/12/2012	338,016	284,759				0	51,257
22	X WESTERN ASSET CORE PLU		957663503			10/2/2008		9/20/2013	200,000	163,089				0	36,931
23	X WYNN RESORTS LTD	.86	983134107			9/9/2011		5/1/2013	245,765	272,269				0	-26.504
77	X ACE LIMITED	Ĕ	H0023R105			6/23/2009		9/25/2013	233,263	104.977				0	128,286
22	X TE CONNECTIVITY LTD	Ŧ	H84989104			6/17/2010		12/12/2012	278,686	220,081				0	58,605
38	X UNRECAPTURED SECTION 12	ON 12							645						645

Part I, Line 16b (990-PF) - Accounting Fees

		600	. 0	0	600
				"	Disbursements
-		Revenue and			for Charitable
ı		Expenses per	Net Investment	Adjusted Net	Purposes
L	Description	Books	Income	Income	(Cash Basis Only)
	1 TAX PREP FEE	600			600

Part I, Line 18 (990-PF) - Taxes

		10,480	5,448		0
		Revenue and Expenses	Net Investment	Adjusted	Disbursements for Chantable
	Description	per Books	Income	Net Income	Purposes
1	FOREIGN TAX WITHHELD	5,448	5,448		
2	ESTIMATED EXCISE PAYMENTS	5,032			

Part II, Line 13 (990-PF) - Investments - Other

		18,700,241	18,281,795	27,685,095
	Basis of	Book Value	Book Value	FMV
Asset Description	Valuation	Beg of Year	End of Year	End of Year
1 OTHER INVESTMENTS		18,700,241	18,281,795	27,685,095

Part III (990-PF) - Changes in Net Assets or Fund Balances

Line 3 - Other increases not included in Part III, Line 2

1	COST BASIS ADJUSTMENT	1	3,138
2	PURCHASE OF ACCRUED INTEREST C/O FROM PY	2	124
3	FEDERAL EXCISE TAX REFUND	3	2,577
4	Total	4	5,839

Investment Income
٥
ě
ē
Losses
2
Gains
- Capital
(990-PF)
Part IV

105 089	The Marie Control	of FMV Over Adusted	Basis or Losses	89,715	9,278	115,966	-189,267	-16,636	-133,545	-11,104	-11,051	15,484	-657	-23,744	-3,933	34,941	130,869	-24,440	65	489,403	-28,151	-3,895	3	51,257	36,931	-26,504	128,286	58,605	[\$ 7 6
•		Excess of FMV	Over Adj Basis	0	0	0	0	0	0	[0]	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	16
•		Adjusted basts	12/31/89	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	00	0	0	0	0	0	0	0
		Jose V M	12/31/89	0	0		0	0	0	0	0	0	0	0	0	0	0	0	0		0	0	0	0	0	0	0	0	0
103 008	76,000		Gain or Loss	89,715	9,278	115,986	189,287	-16,636	-133,545	101 11-	11,051	15,484	-657	-23,744	-3,833	34,941	130,869	-24,440	92	489,403	128,151	-3,695	3	51,257	38,931	-28,504	128,286	58,605	645
1 905 831	100,080,4	Cost or Other	Expense of Sale	110,285	139,679	119,126	000'009	52,632	000'009	511,104	100,778	408,704	25,857	200,259	104,561	52,561	308,800	75,756	1,411	156,456	176,960	105,691	85	284,759	163,069	272,269	104,977	220,081	<u>ө</u>
•	5		Adiustments	O	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	o	ō	0	Ю	o	0	0	0	0	
		Depression	Allowed																										
2 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	201,000,0		Sales Price	200,000	148,857	235,092	410,733	35,996	488,455	200,000	89,725	424,188	25,000	178,515	100,628	87,502	699 689	51,316	1,476	645,859	150,809	101,798	61	336,016	200,000	245,765	233,263	278,686	1579
	ľ	2	88	9/20/2013	5/1/2013	12/12/2012	9/20/2013	8/20/2013	8/20/2013	4/9/2013	9/20/2013	9/20/2013	5/6/2013	9/20/2013	9/20/2013	8/25/2013	12/12/2012	9/20/2013	9/20/2013	12/12/2012	8/20/2013	8/20/2013	8/20/2013	12/12/2012	8/20/2013	5/1/2013	8/25/2013	12/12/2012	T ::
		į	Acquired	4/27/2005	6/17/2010	6/23/2009	2/13/2008	4/11/2008	4/27/2005	12/9/2008	6/24/2005	3/2/1998	8/19/2011	3/17/2011	11/21/2011	11/29/2010	10/1/2008	3/21/2000	2/14/2002	10/8/2002	3/29/2012	6/11/2012	2/11/2009	3/29/2012	10/2/2008	9/9/2011	6/23/2009	6/17/2010	-
		Ī	Acquired																										T
42 703			CUSIP #	04314H105	156700106	171232101	246248306	246248306	248248308	31398AWW9	458140100	458140100	459200GR6	484288509	464287178	500760106	580135101	594918104	594918104	74005P104	881624209		921837868	92343V104	957663503	883134107	H0023R105	H84989104	***************************************
Long Term CG Distributions	Silving Co Comme		Description of Property Sold	1 JARTISAN FDS INC SMALL CAP FD #880 04314H105	2 CENTURYLINK, INC	\$ CHUBB CORP	4 DELAWARE POOLED TR INTL EQUITY #	5 DELAWARE POOLED TR INTL EQUITY #	BELAWARE POOLED TR INTL EQUITY #	7 FED NATL MTG ASSN 3 250% 4/08/13 31398AMW9	B INTEL CORP	9 INTEL CORP	10 JBM CORP 2 100% 5/06/13	11 JISHARES MSCI CANADA ETF	12 ISHARES TIPS BOND ETF	13 KRAFT FOODS GROUP INC	14 MCDONALDS CORP	15 MICROSOFT CORP	16 MICROSOFT CORP	17 PRAXAIR INC COM	18 TEVA PHARMACEUTICAL INDUSTRIES	19 TEVA PHARMACEUTICAL INDUSTRIES	20 VANGUARD TOTL BD MARKET IND SGN		22 WESTERN ASSET CORE PLUS BOND-1	23 WYNN RESORTS LTD	24 ACE LIMITED	25 TE CONNECTIVITY LTD	26 JUNRECAPTURED SECTION 1250 GAIN

Part VIII, Line 1 (990-PF) - Compensation of Officers, Directors, Trustees and Foundation Managers

	0	
Expense Account		
Benefits	0	
Compensation	323,090	
Avg Hrs Per Week	4 00	
Trtle	TRUSTEE	
Foreign Country		
Zip Code	7101-3818	
State		
Street	I W 4th St 4th Floor MAC D4000-0411V	
Check "X" if Business	×	
Name	s Fargo Bank N.A. Trust Tax D	
	State Zip Code Foreign Country Trite Per Week Compensation Benefits	Street City State Zip Code Foreign Country Title Per Week Compensation Benefits 1 W 4th St 4th Floor MAC D4000-041 Winston Salem NC 27101-3818 TRUSTEE 4 00 323,090 0

Part VI, Line 6a (990-PF) - Estimated Tax Payments

		Date	Amount
1	Credit from prior year return		1 10,651
2	First quarter estimated tax payment		2
3	Second quarter estimated tax payment	5/3/2013	3 2,369
	Third quarter estimated tax payment		4
	Fourth quarter estimated tax payment		5
	Other payments	6/4/2013	6 2,663
_7	_ Total		7 15,683

Part XIII, Line 2a, Column C (990-PF) - Prior Year Undistributed Income		
Distributable amounts for 2011 that remained undistributed at the beginning of the 2012 tax year	1	678,529
<u> </u>	2	
	3	
	4	
	₅	
	₇	
	₈	
	9 —	
0 Total		678.529

•





Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

			l	
			l	
			l	
			l	
_		1		
2	_	į	ä	
•	1	ĺ	4	
ŀ				
	4			
1	1			
1	1			
1		<u>י</u>		
 		<u>ו</u>		
1		֚֡֝֜֝֜֜֜֜֝֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜		
 		֡֜֝֝֜֜֜֜֝֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜		
		ו ו		
		ו ו ו		
		֡֜֝֝֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜		

Asser Descurrion	Опанти	Pace	MARKET VALUE AS OF 11/30/13	Cost Basis	Unrealized Gain/Loss	CURRENT YIELD	Accrued
MONEY MARKET FEDERATED TREAS OBL FD 68 Asset held in Invested Income Portfolio	0.000		\$0.00	\$0.00	\$0.00	0.00%	\$0.19
FEDERATED TREAS OBL FD 68 Total Money Market	559,485.750		559,485.75 \$559,485.75	559,485.75 \$559,485.75	0.00 \$0.00	0.01 0.01%	4.84 \$5.03
Total Cash & Equivalents			\$559,485.75	\$559,485.75	\$0.00	8.0.0 %	\$5.03
Asser Descuercon Fixed Income	PAR VALUE	Pac	Market Value as of 11/30/13	Cost Basis	UNREALIZED GAIN/LOSS P	Увець то Мативтт	Accrued
GOVERNMENT OBLIGATIONS FED NATL MTG ASSN DTD 06/14/10 2.375 07/28/2015 CUSIP: 31 3998/u34	75,000.000	\$103.448	\$77,586.00	\$79,471.72	- \$1,885.72	0.30%	\$608.59
MOODY'S KATING: AAA STANDARD & POOR'S RATING: AA+ Total Government Obligations			\$77,586.00	\$79,471.72	- \$1,885.72		\$608.59



Period Covered: November 1, 2013 - November 30, 2013
Account Number 1513843636

Asset Description	PAR VALUE	Pac	MARKET VALUE AS OF 11/30/13	Cost Basis	UNREALIZED GAIN/LOSS N	VIELD TO	ACCRUED
Fixed Income (continued)							
AMER EXPRESS CREDIT CO DTD 08/25/09 5.125 08/25/2014 CUSIP: 02/28MOCZ0 MOODY'S RATING: A2 STANDARD & POOR'S RATING: A-	20,000.000	\$103.473	\$20,694.60	\$21,590.20	- \$895.60	0.41%	\$273.33
AMGEN INC DTD 11/18/04 4.850 11/18/2014 CUSIP: 031162AJ9 MOODY'S RATING: BAA1 STANDARD & POOR'S RATING: A	20,000.000	104.143	20,828.60	21,544.40	- 715.80	0.56	35.03
AT&T INC DTD 04/29/11 2.950 05/15/2016 CUSIP: 00206RAW2 MOODY'S RATING: A3 STANDARD & POOR'S RATING: A-	25,000.000	104.400	26,100.00	26,633.25	- 533.25	1.13	32.78
COMCAST CORP DTD 05/15/03 5.300 01/15/2014 CUSIP: 20030NAE1 MOODY'S RATING: A3 STANDARD & POOR'S RATING: A-	20,000.000	100.513	20,102.60	21,062.00	- 959.40	1.25	400.44
CONOCOPHILLIPS DTD 05/21/09 4.600 01/15/2015 CUSIP: 20825CAT1 MOODY'S RATING: A1 STANDARD & POOR'S RATING: A	25,000.000	104.630	26,157.50	27,181.00	- 1,023.50	0.48	434.44
GENERAL ELEC CAP CORP MED TERM NOTE TRANCHE # TR 00725 DTD 01/09/06 5.000 01/08/2016 CUSIP: 36962GU69 MOODY'S RATING: A1 STANDARD & POOR'S RATING: AA+	25,000.000	108.308	27,077.00	27,799.00	- 722.00	1.01	496.53





Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

Asser Descuption	PAR VALUE	Price	MARKET VALUE AS OF 11/30/13	Cost Basis	UNREALZED GAIN/LOSS M	YIELD TO MATURITY	Accrued Income
FIXEG INCOME (continued) CORPORATE OBLIGATIONS (continued)							
GOLDMAN SACHS GROUP INC DTD 01/12/05 5.125 01/15/2015 CUSIP: 38141GEA8 MOODY'S RATING: BAA1 STANDARD & POOR'S RATING: A-	25,000.000	104.765	26,191.25	26,949.25	- 758.00	0.87	484.03
HOME DEPOT INC DTD 12/19/06 5.250 12/16/2013 CUSIP: 437076AR3 MOODY'S RATING: A2 STANDARD & POOR'S RATING: A	20,000.000	100.167	20,033.40	21,022.60	- 989.20	1.67	481.25
JPMORGAN CHASE & CO DTD 06/24/10 3.400 06/24/2015 CUSIP: 46625HHR4 MOODY'S RATING: A3 STANDARD & POOR'S RATING: A	15,000.000	103.966	25,991.50	25,662.00	329.50	0.85	370.69
KELLOGG CO DTD 05/21/09 4.450 05/30/2016 CUSIP: 487836BB3 MOODY'S RATING: BAA1 STANDARD & POOR'S RATING: BBB+	20,000.000	108.609	21,721.80	22,354.80	- 633.00	96:0	447.47
METLIFE INC DTD 06/23/05 5.000 06/15/2015 CUSIP: 59156RAN8 MOODY'S RATING: A3 STANDARD & POOR'S RATING: A-	15,000.000	106.553	26,638.25	27,676.50	- 1,038.25	0.73	576.39
MICROSOFT CORP DTD 05/18/09 2.950 06/01/2014 CUSIP: 594918AB0 MOODY'S RATING: AAA STANDARD & POOR'S RATING: AAA	1 25,000.000	101.297	25,324.25	26,634.50	- 1,310.25	0.38	368.75



Period Covered: November 1, 2013 - November 30, 2013

Account Number 1513843636

Asser Descuption Fixed Income (continued)	PAR VALUE	Price	Market Value as of 11/30/13	Cost Basis	Unrealized Yield to Gain/Loss Maturity	YIELD TO MATURITY	Ассвиер
CORPORATE OBLIGATIONS (continued) MORGAN STANLEY DTD 05/13/09 6.000 05/13/2014 CUSIP: 61747YCF0	25,000.000	102.431	25,607.75	26,572.00	- 964.25	0.65	75.00
MOOD 3 RAING: BAS STANDARD & POOR'S RATING: A- PEPSICO INC DTD 05/10/11 2.500 05/10/2016 CUSIP: 713448R14 4	25,000.000	104.058	26,014.50	26,559.50	- 545.00	, 0.82	36.46
STANDARD & POOR'S RATING: A- UNITED TECHNOLOGIES CORP DTD 06/01/12 1.800 06/01/2017 CUSIP: 913017802 63	25,000.000	102.020	25,505.00	25,883.50	- 378.50	1.21	225.00
MOODTS RATING: AZ STANDARD & POOR'S RATING: A Total Corporate Obligations			\$363,988.00	\$375,124.50	- \$11,136.50		\$4,737.59



Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

Asset Description	QUANTITY	Pace	MARIET VALUE AS OF 11/30/13	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT VIELD	ACCRUED
Fixed Income							
DOMESTIC MUTUAL FUNDS							
ISHARES TIPS BOND ETF SYMBOL: TIP CUSIP: 464287176	4,251.000	\$111.610	\$474,454.11	\$494,974.96	- \$20,520.85	1.49%	\$0.00
PIMCO TOTAL RETURN FUND INSTITUTIONAL SHARES #35 SYMBOL: PTTRX CUSIP: 693390700	102,134.939	10.880	1,111,228.14	1,110,000.00	1,228.14	2.66	0.00
VANGUARD TOTAL BOND MARKET ETF SYMBOL: BND CUSIP: 921937835	14,668.000	80.980	1,187,814.64	1,159,942.01	27,872.63	2.48	0.00
WESTERN ASSET CORE PLUS BOND FUND CLASS I #287 SYMBOL: WACPX CUSIP: 957663503	87,270.099	11.280	984,406.72	797,508.70	186,898.02	3.14	0.00
Total Domestic Mutual Funds			\$3,757,903.61	\$3,562,425.67	\$195,477.94	2.58%	\$0.00
INTERNATIONAL MUTUAL FUNDS							
PIMCO EMERGING LOCAL BOND FUND INST #332	33,396.947	\$9.430	\$314,933.21	\$350,000.00	- \$35,066.79	5.09%	\$0.00
SYMBOL: PELBX CUSIP: 72201F516							
WELLS FARGO ADVANTAGE INTERNATIONAL BOND FUND CLASS IS #4705 SYMBOL: ESICX CUSIP: 94985D582	53,901.955	11.150	601,006.80	609,399.74	- 8,392.94	0.56	0.00
Total International Mutual Funds			\$915,940.01	\$959,399.74	- \$43,459.73	2.12%	\$0.00
Total Fixed Income			\$5,115,417.62	\$4,976,421.63	\$138,995.99	•	\$5,346.18



Period Covered: November 1, 2013 - November 30, 2013
Account Number 1513843636

Accrued Income		\$0.00	0.00	3,655.00	0.00	\$3,655.00		\$0.00	0.00	0.00	\$0.00		\$8,150.00	6,142.50	\$14,292.50
CURRENT		1.93%	0.89	5.69	1.06	1.71%		2.07%	1.67	2.86	2.51%		3.27%	2.70	2.99%
UNREALIZED GAIN/LOSS		\$376,425.00	465,653.20	250,184.75	25,376.75	\$1,117,639.70		\$364,331.25	70,382.37	516,955.44	\$951,669.06		\$968,020.86	801,818.67	\$1,769,839.53
Cost Basis		\$228,600.00	146,026.80	293,220.25	221,513.25	\$889,360.30		\$30,528.75	97,267.63	401,042.56	\$528,838.94		\$29,865.14	109,611.33	\$139,476.47
MARKET VALUE AS OF 11/30/13		\$605,025.00	611,680.00	543,405.00	246,890.00	\$2,007,000.00		\$394,860.00	167,650.00	917,998.00	\$1,480,508.00		\$997,886.00	911,430.00	\$1,909,316.00
Pace		\$80.670	76.460	63.930	70.540			\$65.810	33.530	84.220			\$122.440	93.480	
QUANTITY		7,500.000	8,000.000	8,500.000	3,500.000			6,000.000	5,000.000	10,900.000			8,150.000	9,750.000	
Asset Description Familiae	CONSUMER DISCRETIONARY	HOME DEPOT INC SYMBOL: HD CUSIP: 437076102	ROSS STORES INC SYMBOL: ROST CUSIP: 778296103	TARGET CORP SYMBOL: TGT CUSIP: 87612E106	WALT DISNEY CO SYMBOL: DIS CUSIP: 254687106	Total Consumer Discretionary	CONSUMER STAPLES	COLGATE PALMOLIVE CO SYMBOL: CL CUSIP: 194162103	MONDELEZ INTERNATIONAL INC SYMBOL: MDLZ CUSIP: 609207105	PROCTER & GAMBLE CO SYMBOL: PG CUSIP: 742718109	Total Consumer Staples	ENERGY	CHEVRON CORP SYMBOL: CVX CUSIP: 166764100	EXXON MOBIL CORPORATION SYMBOL: XOM CUSIP: 30231G102	Total Energy



Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

	700	(Dat
	(continu	
		4
ı	Ę	C
		1
í	C	١
		ì
į	U	n
	V	•
		ׅ ֭֭֭֡֜֜֜֜֞֜֜֜

Asset Description	Quantity	Price	Market Value as of 11/30/13	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT YIELD	Accrued
AFLAC INC SYMBOL: AFL CUSIP: 001055102	2,600.000	\$66.370	\$371,672.00	\$242,766.72	\$128,905.28	2.23%	\$2,072.00
AMERICAN EXPRESS CO SYMBOL: AXP CUSIP: 025816109	4,500.000	85.800	386,100.00	191,340.00	194,760.00	1.07	0.00
BERKSHIRE HATHAWAY INC DEL CLASS A COM SYMBOL: BRK.A. CUSIP: 084670108	6.000	174,750.000	1,048,500.00	200,753.16	847,746.84	0.00	0.00
JPMORGAN CHASE & CO SYMBOL: JPM CUSIP: 46625H100	7,350.000	57.220	420,567.00	274,091.06	146,475.94	2.66	0.00
			\$2,226,839.00	\$908,950.94	\$1,317,888.06	1.06%	\$2,072.00
BRISTOL MYERS SQUIBB CO SYMBOL: BMY CUSIP: 110122108	15,000.000	\$51.380	\$770,700.00	\$330,004.32	\$440,695.68	2.72%	\$0.00
CARDINAL HEALTH INC COM SYMBOL: CAH CUSIP: 14149Y108	8,000.000	64.600	516,800.00	282,284.00	234,516.00	1.87	0.00
JOHNSON & JOHNSON SYMBOL: JNJ CUSIP: 478160104	8,200.000	94.660	776,212.00	466,908.00	309,304.00	2.79	5,412.00
MERCK & CO INC NEW SYMBOL: MRK CUSIP: 58933Y105	8,000.000	49.830	398,640.00	362,813.60	35,826.40	3.53	0.00
			\$2,462,352.00	\$1,442,009.92	\$1,020,342.08	2.70%	\$5,412.00



WOODWARD, GEO JR AND HARRIET E T W Account Statement For:

Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

Asser Descurnon Equities (continued)	QUANTITY	Pac	MARKET VALUE AS OF 11/30/13	Cost Basis	Unrealized Gain/Loss	CURRENT	Accrued
INDUSTRIALS							
DEERE & CO SYMBOL: DE CUSIP: 244199105	9,000.000	\$84.240	\$758,160.00	\$285,378.30	\$472,781.70	2.42%	\$0.00
GENERAL ELECTRIC CO SYMBOL: GE CUSIP: 369604103	22,000.000	26.660	586,520.00	83,416.67	503,103.33	2.85	0.00
HONEYWELL INTERNATIONAL INC SYMBOL: HON CUSIP: 438516106	5,850.000	88.510	517,783.50	265,130.19	252,653.31	2.03	2,632.50
UNITED PARCEL SERVICE-CL B SYMBOL: UPS CUSIP: 911312106	3,400.000	102.380	348,092.00	271,537.60	76,554.40	2.42	2,108.00
UNITED TECHNOLOGIES CORP SYMBOL: UTX CUSIP: 913017109	3,100.000	110.860	343,666.00	253,250.93	90,415.07	2.13	1,829.00
SM CO COM	2,200.000	133.510	293,722.00	180,818.00	112,904.00	1.90	1,397.00
Stringol: Minnin Cosir: 863/91101 Total Industrials			\$2,847,943.50	\$1,339,531.69	\$1,508,411.81	2.35%	\$7,966.50



Period Covered: November 1, 2013 - November 30, 2013

Account Number 1513843636

Asser Descuerion Equities (continued) INFORMATION TECHNOLOGY	Qиантту	Pac	MARKET VALUE AS OF 11/30/13	Cost Basis	Unrealized Gain/Loss	CURRENT YIELD	Accrued
APPLE INC SYMBOL: AAPL CUSIP: 037833100	1,500.000	\$556.070	\$834,105.00	\$848,471.45	- \$14,366.45	2.19%	\$0.00
INTEL CORP COMM SYMBOL: INTC CUSIP: 458140100	2,035.000	23.840	48,514.40	46,296.25	2,218.15	3.77	457.88
INTERNATIONAL BUSINESS MACHS CORP COM SYMBOL: IBM CUSIP: 459200101	2,600.000	179.680	467,168.00	285,950.08	181,217.92	2.11	2,470.00
MICROSOFT CORP SYMBOL: MSFT CUSIP: 594918104	6,355.000	38.130	242,316.15	199,124.57	43,191.58	2.94	1,779.40
ORACLE CORPORATION SYMBOL: ORCL CUSIP: 68389X105	10,000.000	35.290	352,900.00	264,580.00	88,320.00	1.36	0.00
QUALCOMM INC SYMBOL: QCOM CUSIP: 747525103	5,000.000	73.580	367,900.00	169,400.00	198,500.00	1.90	1,750.00
TEXAS INSTRUMENTS INC SYMBOL: TXN CUSIP: 882508104	10,000.000	43.000	430,000.00	251,080.00	178,920.00	2.79	0.00
Total Information Technology			\$2,742,903.55	\$2,064,902.35	\$678,001.20	2.22%	\$6,457.28
UTILITIES							
NEXTERA ENERGY, INC. SYMBOL: NEE CUSIP: 65339F101	3,500.000	\$84.590	\$296,065.00	\$108,211.08	\$187,853.92	3.12%	\$2,310.00
PUBLIC SVC ENTERPRISE GROUP INC SYMBOL: PEG CUSIP: 744573106	5,000.000	32.690	163,450.00	168,199.50	- 4,749.50	4.40	0.00
Total Utilities			\$459,515.00	\$276,410.58	\$183,104.42	3.58%	\$2,310.00



Period Covered: November 1, 2013 - November 30, 2013
Account Number 1513843636

Asset Description	QUANTITY	Price	MARKET VALUE AS OF 11/30/13	Cost Basis	Unrealized Gain/Loss	CURRENT	Accrued
Equities (continued)							
INTERNATIONAL EQUITES ACE LIMITED CUSIP. H00238105	2,000.000	\$102.780	\$205,560.00	\$85,695.80	\$119,864.20	1.98%	\$0.00
DIAGEO PLC - ADR SPONSORED ADR CUSIP: 25243Q205	3,200.000	127.670	408,544.00	364,700.93	43,843.07	2.35	0.00
HSBC - ADR SPONSORED ADR CUSIP: 404280406	3,000.000	56.100	168,300.00	165,231.60	3,068.40	4.28	0.00
TOTAL S.A ADR SPONSORED ADR CUSIP: 89151E109	2,000.000	60.320	120,640.00	116,791.60	3,848.40	4.35	0.00
Total International Equities			\$903,044.00	\$732,419.93	\$170,624.07	2.89%	\$0.00
DOMESTIC MUTUAL FUNDS							
ARTISAN FDS INC SMALL CAP FD SYMBOL: ARTSX CUSIP: 04314H105	23,328.475	\$28.900	\$674,192.93	\$356,459.09	\$317,733.84	%00.0	\$0.00
JOHCM INTERNATIONAL SELECT FUND CLASS I #180 SYMBOL: JOHIX CUSIP: 00770G847	17,595.308	17.840	313,900.29	300,000.00	13,900.29	0.00	0.00
WELLS FARGO FDS TR ADVANTAGE SMALL CAP VALUE FD INSTL CL #3150 SYMBOL: WFSVX CUSIP: 949921845	6,202.879	38.970	241,726.19	181,000.00	60,726.19	0.96	0.00
Total Domestic Mutual Funds			\$1,229,819.41	\$837,459.09	\$392,360.32	0.19%	\$0.00



Period Covered: November 1, 2013 - November 30, 2013

Account Number 1513843636

Asset Description	QUANTITY	Prace	MARKET VALUE AS OF 11/30/13	Cost Basis	ONREALIZED GAIN/LOSS	CURRENT	ACCRUED
Equities (continued)							
INTERNATIONAL MUTUAL FUNDS							
HARBOR INTERNATIONAL FUND CLASS INSTITUTIONAL #2011 SYMBOL: HAINX CUSIP: 411511306	13,890.523	\$71.040	\$986,782.75	\$835,237.12	\$151,545.63	1.77%	\$0.00
T ROWE PRICE INSTITUTIONAL EMERGING MARKETS EQUITY FUND #146 SYMBOL: IEMFX CUSIP: 74144Q203	10,986.268	30.100	330,686.67	358,000.00	- 27,313.33	0.60	0.00
VANGUARD FTSE EMERGING MARKETS ETF SYMBOL: VWO CUSIP: 922042858	3,935.000	41.480	163,223.80	150,115.53	13,108.27	3.28	0.00
Total International Mutual Funds			\$1,480,693.22	\$1,343,352.65	\$137,340.57	1.67%	\$0.00
Total Equities			\$19,749,933.68	\$10,502,712.86	\$9,247,220.82	2.11%	\$42,165.28
			MARKET VALUE		UNREALIZED	CURRENT	Accrued
Complementary Strategies	QUANTITY		AS OF 11/30/13	Cost Basis		TIELD	INCOME
ОТНЕЯ							
AQR MANAGED FUTURES STRATEGY FUND CLASS 1#15213 SYMBOL: AQMIX CUSIP: 00203H859	49,261.084	\$10.420	\$513,300.50	\$500,000.00	\$13,300.50	0.72%	\$0.00
ROBECO BOSTON PARTNERS LONG/SHORT RESEARCH FUND CLASS INS SYMBOL: BPIRX CUSIP: 74925K581	66,225.166	14.140	936,423.85	900,000,00	36,423.85	0.00	0:00
Total Other			\$1,449,724.35	\$1,400,000.00	\$49,724.35	0.25%	\$0.00
Total Complementary Strategies			\$1,449,724.35	\$1,400,000.00	\$49,724.35	0.25%	\$0.00



Account Number 1513843636

Period Covered: November 1, 2013 - November 30, 2013

Asset Description Real Assets	Qилитт	Pace	MARKET VALUE AS OF 11/30/13	Cost Basis	Unrealized Gan/Loss	CURRENT YIELD	ACCRUED
REAL ASSET FUNDS COHEN & STEERS INSTITUTIONAL REALTY SHARES #1263 SYMBOL: CERTY CLISTORY	8,969.759	\$42.340	\$379,779.60	\$350,000.00	\$29,779.60	2.66%	\$0.00
ELEMENTS ROGERS TOTAL RETURN DTD 10/18/07 10/24/2022 SYMBOL: RJI CUSIP: 870297801	80,305.000	8.060	647,258.30	702,547.99	- 55,289.69	0.00	0.00
SPDR DJ WILSHIRE INTERNATIONAL REAL ESTATE ETF SYMBOL: RWX CUSIP: 78463X863	4,143.000	42.260	175,083.18	175,254.70	- 171.52	6.18	0.00
SPDR DOW JONES REIT ETF SYMBOL: RWR CUSIP: 78464A607	2,342.000	71.690	167,897.98	174,857.47	- 6,959.49	3.22	0.00
Total Real Asset Funds			\$1,370,019.06	\$1,402,660.16	- \$32,641.10	1.92%	\$0.00
Total Real Assets			\$1,370,019.06	\$1,402,660.16	- \$32,641.10	1.92%	\$0.00
TOTAL ASSETS			Account Value as of 11/30/13 \$28,244,580.46	Cost Basis \$18,841,280.40	Uнкел <i>і</i> zed Gan/Loss \$9,403,300.06	3	Acceuso Income